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Question: 1 
   
The depudy talked to the sheriff about possibly going back to school and earning a bachelor's degree. 
One word in the above sentence is misspelled. It is: 
 
A. depudy 
B. sheriff 
C. possibly 
D. bachelor's 
 

Answer: A     
 
Explanation: 
The word depudy should be spelled deputy. The other words are spelled correctly. 

Question: 2 
   
The witness__________ the suspect as a man in his late twenties. 
Which of these words would be the correct choice to fill in the blank? 
 
A. subscribed 
B. prescribed 
C. described 
D. ascribed 
 

Answer: C     
 
Explanation: 
The correct word to use to fill in the blank is described. None of the other words make 
any sense in this sentence. Describe means to give an account, or to relate facts. Subscribe 
means to receive something on a regular basis, like a cable TV subscription. Prescribe 
means to recommend something, like a doctor's prescription. Ascribe means to say that 
something is caused by something else, as in "Steve ascribed his sore knees to too much 
jogging yesterday." 

Question: 3 
   
The prison transport van arived over two hours late, requiring the officers to have to fill out overtime 
authorization forms. 
One word in the above sentence is misspelled. It is: 
 

Visit us at: https://www.examsempire.com/cjbat



A. transport 
B. arived 
C. requiring 
D. authorization 
 

Answer: B     
 
Explanation: 
The word arive should be spelled arrive. The other words are spelled correctly. 

Question: 4 
   
If you will have to miss work due to illness, you__________ notify the department no later than two 
hours before your shift starts. 
Which of these words or phrases would be the correct choice to fill in the blank? 
 
A. are 
B. have 
C. must 
D. must have 
 

Answer: C     
 
Explanation: 
Must is the only choice for filling in the blank that follows good grammar. 

Question: 5 
   
The robbery took place in broad daylight, shocking many of the small town's cittizens. 
One word in the above sentence is misspelled. It is: 
 
A. robbery 
B. broad 
C. shocking 
D. cittizens 
 

Answer: D     
 
Explanation: 
The word cittizens should be spelled citizens. The other words are spelled correctly. 

Question: 6 
   
NOTICE: It_________ not permitted to carry a concealed weapon on these premises. 
Which of these words would be the correct choice to fill in the blank? 
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A. is 
B. am 
C. isn't 
D. are 
 

Answer: A     
 
Explanation: 
The word is is the only choice for filling in the blank that follows good grammar. 

Question: 7 
   
The city manager is considering outfitting all patrol cars with new emergency light systems. One 
company says their design incorporates a newly developed system of colors and patterns that can 
significantly improve visibility, reducing delays and accidents involving patrol cars. The city manager 
agreed to install the system on four patrol cars for 30 days, and if at the end of the trial response times 
for those four cars have been cut by an average of 15 seconds or more, she will authorize the purchase 
of a system for all patrol cars. 

 
The benchmark, or the average response time before the trial that the test results would be measured 
against, was 10:00. At the end of the trial, Car 1 had an average response time of 10:06, Car 2 had an 
average response time of 9:39, Car 3 had an average response time of 9:37, and Car 4 had an average 
response time of 9:45. Which of the following is true of the average response time of the cars in the 
trial? 
 
A. It was lower than the benchmark by 15.5 seconds 
B. It was higher than the benchmark by 15.5 seconds 
C. It was lower than the benchmark by 12.5 seconds 
D. It was higher than the benchmark by 12.5 seconds 
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Answer: C     
 
Explanation: 
To answer this question, you'll need to do some math. First, convert the average times 
into seconds. There are sixty seconds in a minute, so 10:07 becomes 607 seconds, 9:40 is 
580, 9:37 is 577, and 9:46 is 586. Adding these together gives you 2350 seconds. Divide by 
four to get the average, which is 587.5. Then divide 587.5 by 60 to convert it back into 
minutes, which produces 9, with a remainder of 47.5. So the average response time for the 
patrol cars in the trial was 9:47.5 seconds. This is 12.5 seconds lower than the benchmark 
of 10:00. 

Question: 8 
   
After learning that its budget wouldn't increase from the previous year due to municipal belt-tightening, 
the police department in one city was looking for ways to be more effective without spending more 
money. They decided to park empty patrol cars near stretches of roads which had high accident rates 
due to speeding. The empty cars would be close enough to be a visible deterrent, but far enough away 
from the road that it wasn't obvious that the cars were empty, At first, this worked well, and the 
accident rate declined for a few months. However, drivers eventually realized that the cars were empty, 
and speed picked up again, as did the accident rate. Then the department began randomly posting 
officers in cars where the empty cars had been and rotating between manned and unmanned cars on an 
unpredictable basis. It took a few months, but after drivers began to realize that they could never be 
sure if the patrol cars were manned or not, they began slowing down again, and the accident rate once 
again declined. 

 
Which of these pairs of months had the same number of accidents? 
 
A. January and September 
B. February and June 
C. May and November 
D. June and August 
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Answer: D     
 
Explanation: 
June and August both had 12 accidents. None of the other pairs had the same number 
of accidents. January had 10 and September had 9, making A wrong. February had 11 and 
June had 10, so B is wrong. May had 8 and November had 5, so C is incorrect. 
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